DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
11PCM13 | JEE PRACTICE QUESTIONS | ==X
(2023-24) (TEST-13) Total Marks: 180
General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. A copper rod of 88 cm and an aluminium
rod of unknown length have their increase in
length independent of increase in temperature.
The length of aluminium rod is

[0,=1.7 x 107 K™ o, =2.2x 107 K]
A) 68 cm

B) 6.8 cm

C) 1139 cm

D) 88cm

88 Q.18 Berupeter HmdlFHHev0T(H LOMHMILD
BergGHer WHLL Osflung jsidefluig
&eooT(h @eummler Hem allifley QeuliLiblenIev
G &Flmu  FTIHSS 606V 66016
2189110601 WLI 55 &5 600T L9.60T [HETLOTETS

[0, =1.7x 107 K o, =2.2x 10° K]
A) 68 cm
B) 6.8 cm
C) 113.9 cm
D) 88cm

2. The quantities of heat required to raise the
temperature of two solid copper, spheres of
radii r, and r, (r, = 1.5 r,) through 1K are in
the ratio

NG/ B) ¥
OB D) %

r, OMID r, (r, = 1.5r) BT Q&ME0oTL G\
STy Camermiserfledr QeullLmplemevenil 1k
SlemallMG 2 Wiss CoHameuulmer Gl
l6me S6ifleor eSS L0meoTS!

» 2% B) ¥
o) ¥ D) %

3. A piece of ice falls from a height h so
that it melts completely. Only one quarter
of the heat produced is absorbed by the
ice and all energy of ice gets converted
into heat during its fall. The value of h is
[latent heat of ice is = 3.4 x 10° J/kg, g = 10

(Nkg)]

A) 544 km B) 68 km

C) 34 km D) 136 km

h 2wrsdoha &Cp alwh G
Leofl& L1985 Sl6vor(h) (DDEUSILDTS
o2 BHHRANGIPMS. 2 [Heumer QeSS eor
&HTLIGH  Uellsasllqumey 2 mMlehFLl
LGSBME. Uallsaslly HCp alwbeurs
BT MMV (PUEUSID  QeULILLDTS
WLTOHMLILGSMS!. 6760160 h-60T DG LILITEOTS
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[ueflasl1quiledt 2 6TEBemM  QeullLLd
=3.4 x 105 J/kg, g=10 (N/kg)]

A) 544 km B) 68 km

C) 34 km D) 136 km

4. Tow rods A and B of different materials are
welded together as shown in figure. Their
thermal Conductivities are K, and K, The
thermal conductivity of the composite rod
will be

ENRNNNISRNNg
Al

A) 3(K1+K2)/
2
K+ K,
C) 2(Ki+K,)
D) K, + K,
Qeu6euGeuml QUTBLSHETMTEY — p6e0T A
LMmMIth B ereotm @ uevor(h)  &evor(h&6T

LULSH6L &STLIQUeTemalmm  LMHmeenels Sl
@) 6060078 85 L1 LIL_ (D 6iT6rTenT 36U mnl 6ot
QaulILG&HLGSI )M 60T G 6IT WenmMEGLL
K, lmouib K, eresflev @ emesorliL GQuUmHM
Tl (NSH600TIQ60T QeULlILISGHL GG S meot|eor
LS LILITeTS

AN\
NN\

A) 3 (K, +K%

K+ K,
2

C) 2(K.+K)

B)

D) K, + K,

5. A black body is at 727°C. It emits energy at a

rate which is proportional to
A) (1000)* B) (1000)>

C) (727) D) (727)*

@@H &HHLD QUITHET 727°C QeuliLplemsuuilev
2 6TeMgl. IHT MMV Qeueflall(h efsld
ereuld  eTDGHINDEG CHISHHal60
SlemLouU]Lh ?

A) (1000)* B) (1000)?

C) (727 D) (727)*

6. A black body has maximum Wavelength Am at
2000 K. Its corresponding Wavelength at 3000
K will be

A) %Am B) %Xm

D) ?—é/lm

@ SHLAUTIH6T 2000K QeuliLplemnsuuiley
IGH60T QLIEHLD em6uHemd Am Q& mevorL
&HFeIFamTF QeuerflaflL_Lmev 3000K
QeuliLBlemsuuilev 3|55 HLD QUITH6IT
Qeaueflal G &5 FaTsF 6t 3jemov HerLnmeTs!

A) 5m B) 2 im
) & am D) 8L am

7. The two ends of a rod of length L and a
uniform Cross Sectional area A are kept at two
temperatures T: and T2 (T: > T2) The rate of
heat transfer dQ/dt through the rod ina Steady
State is given by

dQ K(T,—T)
A) g IA
B) % — gra(r—1)

dQ KL(T,—T)
D) = A

Frmeor MGG el (h UFLL A LMOID
L Berid Qaomevor Heoor(h). epedTledT @) (H
(LPEDIGOTE 6T T, LOMMILD T, (T, > T,) 6T60T M @) (H B 6u Q)
QeauliLmlemeuuilev 6M6UGH G LILIL (h 6IT6T6oT.
Blemeuwlmeor Blemevuley gevoriqedr UG
QauliL LflinmmmLd 9emLWLh efgLh dQ/dt-6oT
NS LILIMTeoTS
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dQ K(T—T)
A = 14
B)%=KLA(T1—TQ)

dQ KA(T,—T)
Oaw~ 1L

dQ KL(T,—T)
D)@ = A

8. Coeflicient of linear expansion of brass and
Steel rods are a, and a,. The lengths of brass
and Steel rods are 1, and 1, respectively If (I,
—1,) will remain the same at all temperature if

A)ol’l =0l
B)al =al,
COoal,=al,

D)o l’=a]l?

Nssemer oo ereHer  Hemallfley
(& 600T & MBI & 6T e mGul a, LOMMILD
o, <G GCuabd Ugsemer WLMHMILD

TGS SHe00T(H &6rfletr [HemmIgGeT wWemmEW |,
OO |, GLD. |, (1, -1,) er CeumimLLemey
IMETHS QaIlILl Blemev&HEhahGLD  GH

LTS Flwms BlemeuBlMIGSLILIGSR DS
eT6vfl6v L) 63T 60 (15 61 60T 6L (D) )1 6T a)P:3
QUITHSSHLOMET QIGTLITL

A) ol =0zl
B)al =al
Coal,=al
D)o l’?=al?

9. A Sphere of radius 10 cm is hung inside an
oven whose walls are at temperature of 1000
K. The total heat energy incident per Second
on the sphere (given 6 = 5.67 x 1078 SI units)

A) 5923]8"!
B) 1280JS"!
C) 7128 IS

D) 2480 JS"!

Fr6UJ & 6T I|6M6TSHGILD 1000 K
QauliLmlemevuiey 2 6T @GemeT 66Ty
10cm &L, 1D G185 M600T L G & ITEITLD 62 60TMI Q) &5 TS
LUl QeTengl. GamengHer 5 epeme
&HMeVEH L LI Qeull 9mmedler QLTSS
WG LILMeTS! (6 = 5.67 x 1078 SI 9{6V(&&6IT)

A) 5923]S"!
B) 1280JS™!
C) 7128 JS™!
D) 2480 JS!

10. Astone slabofarea0.36m?and thickness 0.1m
is exposed on the lower Surface to steam at
100°C. A block of ice at 0°C rest on the upper
Surface of the slab. In one hour 4.8kg of ice
is melted. The thermal conductivity of slab is

A) 1.24 J/m/s/°C
B) 1.29 J/m/s/°C
C) 2.05 J/m/s/"C

D) 1.02 J/m/s/°C

0.36m? LU 0.1 m SQIOID Q& TeooTL
GeoLImeTid  epeorledl  OIQLILIGSH  100°C
QeauliLplemeuullev o _eiTerT Brmelemnul
LUMTISSITM  emeausHSLILLReTers.  0°C
Qaul1Lplemevuilev o 6iTer Leofl& s 1q
QTGS @M &6 UTaTsHHer  GLo6y
UGS LILIL (B eTemdl. 6(h 6ol CHshHev
48 kg Uell&sLly 2 BSHMS 6r6eofley
&6V UMaTEHer Qeallll SHLHEH  Hmeor
NS LILITeoTS

A) 1.24 J/m/s/°C
B) 1.29 J/m/s/°C
C) 2.05 J/m/s/°C
D) 1.02 J/m/s/°C

11. 100 grams of ice at 0°C is placed in 200g of
water at 25°C. The amount of ice that will
melt as the temperature of water reaches 0°C
is close to

[The specific heat of water = 4200 Jkg 'K™!
and the latent heat of ice = 3.4 x 10°Jkg™']
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A)61.7¢g B) 63.8¢

C) 69.3¢ D) 64.6g
0°C-60 2.6Tem  100g UeofléssLlly  25°C
Qauliumlemevuley 2 eTem 200  Hiflev

meusSLILIL(MeTengl. Bifledr QeuliLiplemev
0°C & SGBHRO aGBLCUTEH 2 (HEGL
Lieof1 &8 L 19U 60T 2 6rTeumeoTa

BedT HeoT@EULILI MG FHM6dT = 4200) Kg- 'k
Lefl&BLIQuiledT 2 (H &S eT 2 6TEHemm
QeuluLD = 3 x 4 10°JKg™]

A)61.7g B) 63.8¢

C) 69.3¢ D) 64.6g

12. Assertion: When a rod lying freely is heated
no thermal stress is developed in it

Reason : On beating the length of the rod
increases.

A) Both assertion and reason are correct But
Reason is correct explanation of assertion

B) Both assertion and reason are Correct
But reason is not correct explanation for
assertion

C) Assertion true Reason false

D) Assertion false Reason true

Famm : SeoLwWlern Qsmmes e il
sHeoor(h &eoTenM GeullLLILGSSID CUME
56V QalllL WSS LD 2 (HEUTSH TS

&Myeoorld :  QeululiupGssid  GUTs

S600TIq.60T HeTld B\ & &S mal
A) Famml OMMID &TFeoord  Fiflwmerg
SMyeooTld Famolmssmeor  SFiflulmeor
alleng a0

B) MMl LOMMID &MTFeorld @ evor(hLd

Frflwmersl. O60TITEY &ITJ600T LD
Familhasmeor  Fiflwumer  allem&asLI0n
2|60

Q) BaMmm FflWIMETS SMTI600TLD &6 M TS

D) oMMl &EUMITETS! &ITTevoTD &FiflWmeoTs!

13. A body Cools from a temperature 3T to 2T
in 10 minutes The room temperature is T.
Assume that Newton's Law of cooling is
applicable, the temperature of the body at the
end of 10 minutes will be

A) LT
B) 3T
C) 5T
D) T

@@ QuUITeT 10 QBMgsefley 3T QeuliL
Blemeuul el (B1bH Sl 2T QeuLlILplemevs &
GeflFERWenL_Hmsl. sjemm QeullLplemev T
L&D, GgID QUIMTIHETTeoTSl Blwhl” L 6ofledT
Gefliey aEs6E 2L uGBmE  66ewrs
Q&mevorLmev - 10  QBMIg&efledr  (Wigeiley
QuUITnerflesr QeuliLIBlemey

B) 5T
C) 4T
D) T

14. Consider a compound Slab Consisting of two
different material having Equal thickness and
thermal conductivities K and 2K respectively.
The equivalent thermal conductivity of the
slab is

A) %K
B) V2K
C) 3K

D) %K

Qeu6eUGeum QUITIHLS6TITEV 2,607
G &HIQNET Q&MEoTL.  Fnl (h  LITETLD
Q6T  HHSICMD. UIQUTIHL_6rfleor
QeuLILIBS L& SIH M 6T 6T (WPenmBW
K wmhmin 2K erefley Sl ()  LIMeTs 5 eor
QaLILGHL S HMEOT TS
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A) %K
B) V2K
C) 3K

D) %K

15. A Spherical black body with a radius of
12 cm radiates 450 watt power at 500k. If the
radius were halved and Temperature doubled
the power radiated in watt would be.

A) 450 B) 1000

C) 1800 D) 225

12 Q&F.LS QLD Q&ML @@ CoMeT allgel
&@  QuUTEHeT 500 K Qeuliumlemsuuiev
450 watt Hmemert &HT TGHHMSI. 56T
QLT UMTHWTSeD  Qeulilbplensy @)@
DL MIGSTHED MMM Sjemlujn CUmsl
HHTeIe 1D Hmermeorgl (QUmL-(h&6rflev)

A) 450 B) 1000

C) 1800 D) 225

CHEMISTRY Q.No. 16 to 30

16. Which of the following sets of quantum
numbers is not allowed?

A)n=3,1=2,ml=0,s=+1/2
B)n=3,1=2,ml=-2,s=+1/2
COn=3,1=3,ml=-3,s=-1/2

D)n=3,1=0,ml=0,s=-1/2

GCp Q&EMHESLILLBETET  (G6UTeoorL LD
6TEOOT&H 6116V FMHHUILD @VeVTH S

An=31=2ml=0s=+1/2
B n=3,1=2,ml=-2,s=+1/2
On=3,1=3ml=-3,s=-1/2

D)n=3,1=0,ml=0,s=-1/2

17. In the sixth period, the orbital’s that are filled
are

A) 6s, 5d, 51, 6p
B) 6s, 4f, 5d, 6p
C) 6s, 6p, 6d, 6f
D) 6s, 51, 6d, 6p

6-10 auflemsuilev, o FLIL L MeL&6T BIFLDLILD
alfleng?

A) 6s, 5d, 5f, 6p
B) 6s, 4f, 5d, 6p
C) 6s, 6p, 6d, 6f

D) 6s, 51, 6d, 6p

18. The region in the electromagnetic spectrum
where the Balmer series lines appear is

A) Microwave
B) Infra red

C) Ultraviolet
D) Visible light

WerasmHs Blmwmemevuiley 6Ths LGS uilsy
Umeulnl Q&TLT eufl&e6T CHmeTmIHMmSI?

A) 51600T 26060856
B) &I1&F FleullL]
) 4 2e151T

D) &6v0Ts501 M1 6R6r]

19. Azimuthal quantum number of Valance

electrons of Ga'' is (Atomic number of
Ga=31)
A)1=0 B)l=1

C)1=2 D)1=3
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Ga*' lweoflulledr @) 606007 S\ (D 60T
6TEVLE LT IT6OT S5 61T 60T (856U T600T LD 6T6v0T LOGHLIL]
(Ga - 60T {60 6T6v0T = 31)

A l=0 B) I =1

Ol=2 D)I=3

20. The number of subshells associated with n =
4 and m = -2 quantum number is
A)4 B) 8
C)2 D) 16
GGUTEOOTL_LD  6T60OT&HGET Nn=4 LOMMID m=-2
&HE& 2_6OUTLITET  Slemeoorss  Fo (b Serfleor
6T600T 6001 | 8560185 6T6OT6OT?
A)4 B) 8

C)2 D) 16

21. The total number of orbitals associated with
the principal quantum number 5 is.

A)S5 B) 10

C) 20 D) 25

(LNSHETEMLN  GH6UIMTEOOTL LD  6T600T 5-6U 2 66T
QUITESS 3 TLIL L M6V & 6T 60T 6T600T600T] 86055

A) 5 B) 10

Q) 20 D) 25

22. If the principal quantum number n = 6. The
correct sequence of filling of electrons will
be

A)ns — np — (n—1)d — (n-2)f
B)ns — (n-2)f - (n—-1)d = np
C)ns — (n-1)d » (n-2) f - np
D)ns —» (n-2)f - np — (n—-1)d
(LNSHEOTEDILN GH6UTEOOTL LD 6T600T N=6 6T60TMIT6V

6T6V 85 L_[J IT60T & 60) 6T BITLIL|6U S M & meoT
Fiflwmer euiflemna

A) ns — np — (n-1)d — (n-2)f
B) ns — (n-2)f — (n-1)d — np
C)ns — (n-1)d = (n-2) f — np

D) ns — (n-2)f — np — (n-1)d

23. The kinetic energy of an electron in the
second Bohr orbit of a hydrogen atom is
(a, 1s Bohr radius)

h2
647’ ma;

D)

MAML_TR6T | solailedrT @) TevorLmeug CUITY

QILL LI LImemng U6V 2 6T6T 61 6T6v85L_ [T 6ol 60T

QUISS 24,MM6V (a, 6TeOTLIG GUIMIl6T 24, 7LD)

h2

A)

) dr’ma,
h2

2 2
l67°ma,

B)

h2

2 2
327 ma

©)

hZ
647’ ma;

D)

24. According to Bohr’s theory, the angular
momentum of an electron in 5th orbit is

A) 25t B) 25
T VA
@) 1ot D) 102
T T
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GuImy Q& meiTem &5 Ul 6T LIl 5-6ugl
QL LUUTMSUND 2 66T 6Teu8 L[ Teot| 60T
@& IT6o0T 2_[H LD

A) 25t B) 25
V3 T
@) Lot D) 10l
T T

25. Uncertainty in the position of an electron
(mass=9.1x103'kg) moving with a velocity
300ms! accurate upon 0.001% will be
(h=6.63x107* Js)

A)19.2x102m
B)5.76 x 10> m
C)1.92x 10°m

D)3.84x 102 m

300 ms!' HensFGassiHe)  @UMIEGLD
6TeL S L_ITITEDT 60T [Bl6t6VUI6LEVITE & 60TEm LTI
& 600TH B (h) &. (Blemm=9.1x 10-3'kg)
0.001%  &6LENUISSIL 60T 560015 5 () &.
(h = 6.63 x 10734 Js)

A)19.2 x 102 m

B) 5.76 x 102 m

C)1.92 x 102 m

D)3.84 x 10°m

26. Ruther ford’s experiment on scattering of
a-particles showed for the first time that the
atom has.

A) electrons
B) protons
C) nucleus

D) neutrons

emSTCUTT(® a- P& M6V C&FME et 60T U 60 (B 1H S
W WSl M gvaille) QBLLSTS
&evor MLl L gl

A) 6T6V 8 L_[JIT6OTE 6T
B) UG TL_L_IT6OT&6IT
Q) 2 L&

D) BIW,L_[FTedT8H 6iT

27. The outer electronic configuration of the
ground state chromium atom is

A) 3d* 4¢?

B) 3d’ 4s!

C) 3d° 4s°

D) 3d* 4s°
QL mmev Blemevullev &Grmudlwiid
gq@ueﬁ)eifr QaueflEanl (B 6TeL& L IJTedT
Sl6mLOLIL]

A) 3d* 482

B) 3d° 4s!

C) 3d° 4s°

D) 3d* 4s°

28. Any P — orbital can accommodate upto

A) Four electrons
B) six electrons
C) Two electrons with parallel spins

D) Two electrons with opposite spins
P- o7l Lmedlev BIFLIL Snlquigl
A) IBIT6OT& 6T6VE5L_IJ 0TS 6T

B) @L,MI 6T6VE L_IJ 0TS 6T

C) @) 6mé6v0T FLOMG U L60T @ revor(h)
6T6VL & L_[TT6OTS 6T

D) T &\ G LpMHE U] L_60T @ evor ()
6T6V & L_[T 60T 61T
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29. When alpha particles are sent through a thin
metal foil, most of them go straight through
the foil because.

A) Alpha particles are much heavier than
electrons

B) Alpha particles, are positively charged
C) Most part of the atom is empty space

D) Alpha particle move with high velocity

0- SHETHEMET GV 2 GeuMsH &&1q 60T
QPWLMTE QFNSSIDCUTS QLIHLOLITEVITET
SIGATH6T GBHITH QFLH M. O 6Tent16V

A) eTLELTmeTEHemeT el a-
&60TLDITEOTE0I6L

SI&HETHET

B) a- &&6T&H6T GBI &retLDU|6mL UG

C) oiemiaNledl  GILI(HLDLITEV 60T
QeumMIL DTS 2 _6Temgl

LGS

D) a- SIHETH6T IH& HengsF Coud s HIL 60T
BHIRDE!

30. Which electronic level would allow the
hydrogen atom to absorb a photon but not to
emit a photon?

A)3S

B)2P

0)2S

D)18S
6ThS ENEY LOL L SHl6y
maml JRermey  CGUITLLTer 2 mlEhs &6V
DDHHH OB MG 2,60TMeV GLITLL_TedT
QaueflLI (B &6L DG &S LILILel60em6v.

A)3S

B)2P

Q2S

D)1S

| MATHS Q.No. 31 to 45

a—Xx

x—Db

31.Ify=+(a—x)(x—b)—(a—b)tan™

then dy is equal to

dx
A)(a—z)(z—D)
1
B -0
O 5%
D)\ i=7
y=y/(a—x)(x—b)—(a—b)tan™ ij]’;

6T60f 16V %—6&[ &1L
A) (a—a) (z—D)

1
(a—z)(z—b)

SRe=

D) L=

— .1 /1+sinx
32,I(fi‘y—tan 1—sinx>
y.

== 18
dx

A5

B) -1

B)

%<$<7T, then

C)%

D) 1

= tan"' /1+sin x
y 1—-sinx’

o &1L

%<x<7f 6T60fl60

D) 1
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33. If f(x) = x + tan x and f is inverse of g, the
g!(x) is equal to

1

N1 -2
1

B) 1) —2)?
1

R T R
1

D) =g -2

f(x)=x+tanx wOOMID f eTeOTLZ g-60T
GBIFLOMMI 6T60f16V g'(x)-60T LOGHILIL]

1

A1) -2
1

B) 1) —2)?
1

R R T R
1

D) =g —2)

4. If 2" +y* = t—%
'y % is equal to

1
and x4+y4=t2+t—z then

A) -1
B)0
0) 1

D) none of these

'ty = t—% LDMHMILD :L‘4+y4=t2+tl—2 6Teof 160
'y Zx—y—Gf)T OS]

A) -1

B) 0

01

D) eTgieLil6LemIev

35. The derivative of sin™! [1_2%2] with respect to
tan™! [2_:1:2] is
11—z
A)O
B) 1

C) —

11—z

1
D) 1+2°

i %xe ]g QUITHS S sin-1[2—x] -60T

-
tan 1+

UM H &G & (LD
A)0
B) 1

0 %

1 3

1
19 1+2
36. If y =sinx" and u = cosx, then g—z 1s equal to

A) —cosec X oS X
Tc 0
B) 180 cosec 1°cos T

©) %COSGC x Ccosz’

D) none of these

e . dy .
y = sin X" IDMHMID u = cosX, 6T60flev gy -60T

WG
A) —cosec X cos x

T
B) 1gq cosec z°cos

O %cosec x cosx’

D) none of these

37. 167+ = ae™ %) 2> 0, then y''(0) is equal

A) %e‘”/ 2 B) ae™”
;2 -/2 :
() D) not exist
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7+ = ac %) a0, ereaflé y'(0) &7 LB

A) %e’”” B) ae™
C) —726,”/2 D) @ eum M6
61516 L0l 6L 66V

A
1+2°—2xcosa’

38. Ifsiny= xs1n(a+y)andd$
then the value of A is

A)2

B) cos a
C)sina

D) none of these

A
1+x —2rcosa’

dy
siny= XSln(a+y) LDmQJLD
6T6vfl6v A-60T LOGLIL]

A) 2
B) cos a
C)sin a

D) @6aUMmI6T 6756 Ll6V6m6V

39. The value of (2008) atx——l when

A) 2008
B) 1004
C) 502

D) 251

dy

]erﬂsu x = -1 60 2008
dx

y= tan[
GILIL]

bx—i-a

A) 2008
B) 1004
C) 502

D) 251

10

40.If x =a[cost+tsint],y=a[sint—tcos t]

d2
then the value of 120 ”adT(}; att= % is

A) 2800
B) 2860
C) 2880
D) 2870

x=a[cost+tsint],y=a/[sint—tcos t] eTeoflev

d-y

t =60 120 Ta g 60T LOGLILY

3

A) 2800
B) 2860
C) 2880

D) 2870

1+

41. The value of Cgr[sing (cot’1 1 L

- X

I

A) — B)0

1
2

C) D) -1

1
2

B%[sinz (cot_1 % t

S

) o

A) — B)0
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42. 1f (a+@cos x) (a

where a > b > 0, then

—y/2bcosy)=

gx at(Z Z)l

a’*—b’

a—Db
A) 4Fb
b

+
B) v =%

20 +b
2a—0b

C)

a—2b

D) a+2b
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(a+4y2bcosx) (a—y2bcosy)=a’—b?, a>b>0,
aezrﬂeb(%,%)—sb g—;-m OSILIL

—b
A) 45p

a+b
a—b

2a+b
2a—0b

B)

C)

a—2b
a+2b

D)

dy .
&ls

A) (sin x)@ X[ 1+sec®xlog sin X]

43. If y=(sin x)*"*, then

B) (tan x)(sin x)™*! cos x
C) (sin x)™* sec? xlogsin x

D) (tan x)(sin x)tn*!

y = (sin X)®"* eTeofl6L g—i -60T DG
A) (sin x)™ [ 1+sec’xlog sin X]
B) (tan x)(sin x)™*! cos x
C) (sin x)™* sec? xlogsin x

D) (tan x)(sin x)#*!

44. For x€(0,1/4) if the derivative of tan’'

6x
1_

9; is v/x.g(x) then g(x) equals

9
A) 14927

33:\/5
1—-97°

3z
1—-92°

3x
1+92°

B)

C)

D)

11

GX\/;

1—-9x*
Vx.g(x), eTevfl6b g(X) Sy 6075

9
A) 1+97°

Sx\/;
1—92°

3x
1—92°

3z
1+92°

x€(0,1/4)-6v tan-!

-60T QUEN&HSH C&H LD

B)

O

45. Ify is a function of x and log(x+y) — 2xy =0,
then the value of y'(0) is

Al
B) -1
C)2

D) 0

y OIS X-60 SeMObBS FTHL LMHMID
log(x+y) —2xy = 0, eTeoflev y'(0) 60T LOGHLILY

A) 1
B) -1
Q2

D)0
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